TH28FE TERRER /B #E

EY—4 -« 1278wvY
F— L% FREES - E2Q| NECERTFQ TDK JD I ERQ B K12+ |IEL
HEEES - 22O @ 4-1 D 1-4 @ 4-1 21 9 |2
NECERFD |® 1-14 @ 1-4 D 2-3 0 4 4
TDK D 4-1 @ 4 -1 Q@ 4-1 3 12 |1
JDIER® |(@ 1-4 D 3-2 ® 1-4 1 5 3
@ 4838 (H) 1-}: #ef#Es: - B2 483H(H) 31} NECERERFOQ 48108 (B) 3-p: JDIEROQ
FR#EES - BEOQ vs TDK NECHERFQ vs JDIERQ FE#ES - EEQvs JD I EERQ
1—6 6 — 0 =
S| x Sz 0 . 5 2 kE@EEA OlS1|O #AE & 2 0 = @8 x|S1|O ®E FEA 2 0 =) i—8p x
5 -1 5 -1 4 — 6
S2| x _tkgExX— 0 2 MEE#E OfS2|x 4 = 0 2 AHE = OfS2| x rhiE #3B 0 2 At #z O
2 — 6 5 -1 5 -1
7-5 6 - 6 - 4
SSOi%BﬂEéEEZ% 21 B/ARE xSSOUJDfa’-mFLZG 0 _FH ¥ xsao‘.%if%ﬁi{:ZG 207.(83%%'§><
L E s 3 -6 KEBEA A 8K 3 -6 BE e HE BFEA 6 - 1 Al &%
D1| x 0 2 ] RS 16 -3 2 o|p1|O 2 0 X
)| BB i 0 -6 EHEN A+ T8 2 -6 AH ##% Hx E— 6 - 2 FEl iE—Ep
HoitE— 1 -6 HNE et ) _IEA 4 - 6 FN HE—ER WE ¥sE 6 - 4 FHE &
D2| x 0 olplx~ 0 2 o|n2|o 2 0 x
SiEm= 3 -6 $hAE EE & 2 -6 BH % ik X — 6 - 2 HE e
P - 4 P 2 - 3 P 4 - 1
S 2 - 9 S 5 - 6 S 8 - 2
G 32 - 64 G 51 - 50 G 57 - 32
®4)E]10E| (B) 13-} NECERTOQ ® 48248 (B) 13- %J?Eiﬁﬁﬁ-%;‘?;@@ 4824H8(R) 1M TDK
NECEBRF®D vs TDK FAMEIE - E2Q vs NECERFO TDK vs JDIEERQ®
— 6 7 —6 © -9
S1|x A+EFH 0 5 2 XxE#EsA Ols1|O #E 5mA 2 : . 0 @A =& x|S1|O kF@EsA 2 0 Z)ImE—Ep x
6 — 2 6 — 3 -6
S2|x _FZEABREFE 1 (2) g 2 HEBE#E O]S2|0 =45 Bz 2 6 0 deat = x|S2(|O HmsEst 2 g 1 1 _AX&#z x
3 -6 = 6 -0
S3| x uJD%’-me04 GZEm%ﬁOSBx%@z# %0 2 o &l Ofs3|O__#ak=x 26 207,<EE$%§><
H A 2 -6 KEBEA HE BEA 5 - 17 AE+E FH KEBEEA 4 - 6 i L1 =
D1| x 0 2 o|p1|O 26 -31 x|D1|O 2 6 11 X
= 0 -6 B/ARE Hx E— 6 - 3 HH BE BHEN 7 - 6 0 FHHZE
FZIIIER 6 - 1 BAR AR e ¥ 6 - 1 B BX REEE 2 -6 EEa G|
D2|O 2 x|D2|O 22 -61 x |D2| x 2 O
E+EFHE 6 - 1 REEE ik 3x— 6 - 2 EE & ErAER 3 - 6 pNEEZ
P 1 - 4 P 4 - 1 P 4 - 1
S 3 - 8 S 8 - 4 S 8 - 4
G 32 - 52 G 63 - 49 G 61 - 43




T2 8K FREEXAY -8 HR
EY—4 - 270v9%

F— L% FEHBMQ |NECEEVRTALl REHTO HERTO B Rao r|IEL
FEHRFQ @ 1-4 D 3-2 @ 5-0 2 9 |2
NECEBEVRATLIQD 4 -1 @ 4-1 D 3-2 20 11 |1
RERTO D 2-3 @ 1-4 @ 5-0 1 8 3
RERTO @ 0-5 @ 2-3 @ 0-5 0 2 4
@ 4838(B) 1-b  FEHRHRO 4H83H(A) 1-}: NECHBEYRTA 48108 (B) 13-b: RERTO
FEMEHRO vs FHEHRTO NECHEIEVRTL vs FREHRTQ FEMEHRO vs FHEBRTO
6 —0 6 —0 6 —0
SIIO &% f###k 2 0 =mi_ =i x|ST|/O_K& # 2 0 sl B x|S1|O £F #fk 2 0 &# Z=A X
6 — 4 6 — 1 6 —0
0—6 6 —0 6 — 3
S2|x B &AOQ 2 =@ @#E O|s?2|0 @ EE 2 0 /m#n sk x|S2|O s Kkt 2 0 /i s3f x
0—6 6 — 4 6 — 2
6 - 2 5 -1 6 - 2
S3|O Ak Kt 2 0 Zth BFE x|S3[x UF HBEO0 2 #We &% OlS3|O #= =z 2 0 e IE¥ x
7 -6 0 -6 6 - 2
5
T8 FEN 6 - 7 FE)I | =k 6 - 1 B OSEA &F B 6 - 1 B OSEA
D1{ x 0 6 2 (o] Dife) 2 0 x|D1]1O 2 0 X
BH TN 2 -6 B Rz ER =4A 6 - 4 Il B UE S 6 - 2 Il B
&7 B 6 - 2 =i Bk MEE Bt 6 - 4 M S AR %k 6 - 2 M E¥H
D2|O 2 0 x |p2| x 13-62 oln2|o 2 0 x
ME S 6 - 4 =0 #gE XIE #4E 4 - 6 WE ¥ kB SE 6 - 1 WE I8¥
P 3 - 2 P 3 - 2 P 5 - 0
S 6 - 4 S 7 - S 10 - 0
G 45 - 43 G 54 - 39 G 60 — 15
® 4H810H (H) 13-} NECBEYRTLA ® 48248 (B) 1-b FEHRHO ® 48248 (H) 2} RERTOQ
NECEEYRTAL vs REMRTO FEHBEHD vs NECEEVRTLA HERTQ vs TEHITO
6 — 3 6 — 2 6 —0
S11O_K% # 2 3 0 &R FE=z x|S1|O £F #E# 2 0 XB # x|S1|O _Edxrz 2 6 0 0 X
2 — 6 6 — 4 6 —0
S2|x =@ FE ( 2 =@ @E O|S2|x i F# 1 2 - 6 2 kMM EE O|S2(0O_FEHBE 2 0 X
4 — 6 6 — 7 6 —0
6 - 1 1 -6 6 -0
S3|O EA =4 2 0 3t BFE x|S3[x g X 0 2 BER =5 OS3|O _#hBEE 2 0 X
6 - 4 6 - 7 6 -0
KB # 6 - 3 FE) i T8 EN 3 -6 RE # EHEX 6 -0
D1|O 2 0~ x|pifx 0 2 olb1|O 2 0 x
zW FE ] -5 ED Bz HA = 2 - 6 XM FEE EARE 6 -0
BlE Sk 6 - 2 BE_BX AV I &N 2 -6 BlE  SEk FEF 6 -0
D2|O 2 0~ x|p2[x 0 2 ol[p2|0 2 0 x
XlE 4 6 - 3 =H #E kB SE 5 -1 XIE #4E ERE— 6 -0
P - 1 P 1 — 4 P 5 — 0
S 8 - 2 S 3 - 8 S 10 — 0
G 55 - 36 G 45 - 59 G 60 — 0




EU—4 - JB{LEL
146L|T D KI2GZIN ECEBfE ¥ X T A
M B EE L - ERQUMEITF E T & B ©Q
5l D I % R Qlofm E 8B T @
THIIN E C ¥ % * QBfum ® &# 1 @
58158 (B) 3} x& 58158 (B) 3} X&
TDK vs NECEELRTA| #HBEES - B2 vs FEHB/FO
6 — 1 6 —
S1|O #Fs =& 2 0 KB i x|S1|O #t m=A 2 - 0 &7 88 x
746 0—-6
S2|0 mmE_ EHt 2 0 =@ EE x|S2|x i ##; 0 2 #E F# O
6 — 2 2 —6
6 - 4 71 4
S3|x mE §ﬂ1% 1%255 #=:4 O|S3|O & 5&1:27 0 s Kt x
5B BN 6 — 2 XEH # Hx E— 6 - 3 B EA
D1f x 10 6 2 D1{O 2 0
KEHE BA 9 — 1 =M EE HE BEA 6 - 1 RE Hn
HIE E# 4 — 6 il =k S B 1 -6 2 £F #H
D2 2 6 31 x D2 x 0 2
#AR * 1M1 —9  Kisg =4 2H# 5 0 - 6 k8 BE
P 3 — 2 P 3 — 2
S 8 — 5 S 6 — 4
G 78 — 68 G 42 — 47
®5ﬁ1SE(E)J—I~I =1 @5)5!15E|(E|):l—l~2 X&
JDIXERE® vs HERTO NECERFD vs HERHRTO
_6 —
ST x k%t _#z 0 625135@ 2z O|S1|O 2 0
_3 —
S2|0 K@E_ =#m 2 ZOEEE gE x|S2|0 2 0
6 - 4 —
S3x FH & 14 6 2 i BE O]S3|0 2 0
10 — 12 —
ABH Zm 6 -3 BE Bx —
D1{O 2 0 x|D1|O 2 0
HE e 7 -5 FH)I = —
BH % 6 -0 TE Fif =
D2(O 2 0 x|D2|O 2 0
FH & 6 -3 EB E— —
P — P 5 — 0
S — S 10 — 0
G 63 — 50 G 0 — 0




